Weeyy S §.22 Roller Coaster

=

U = 2o % %M‘;C;rd‘ep
="
50'..;-!'\'914, T N
+B O‘-«‘Aj.(a,w\ " T ac‘o
g
NeJton's 2nd \au: ma(_f, = N + mg
3 Ve ctors é
p! T +o Com‘)oneuf's m aCF = N -mg
2
o majm"fvd.(. mL = N- i, ( has #o be
r 2o

(N Ua
= 24
O?_.
= = m = 20.%m
2 x9.%



5.28 Convcal Pendtidum /1 2y @
2™ed So =

-
M3 kg, LAT3m |
=@ - -
2.S]
D Show ‘h\.a ma\\‘ou/\ D) (chJ + lr\or\‘.?,ev\{-cﬂ COMPQV\QAZS

25 f—wus u ® Ol;ﬁiram Lt\ 2wl > 5*‘\\“5 lew sion

Salylkoh-
N hop  wew

QAc +
P Wj -—-mg_

)

4) 'Tx Pmm‘olas e c%&\pe+cﬂ accelerads o

2 n s E
Tes T T T e T TP T 1R
c S8
Fh’\a . Cos 3 = -"E i [T ]L":r’- = ma_ Thg i tnbre
YT aun e
si O £

Lowa
= r’:_g_- =25 N WQ.‘QH‘,
L 2 1.2

N B 2 ESN (z&e.(sqlz{% N)



0.7 o
— o " S
Ml - IID k% I = l.O v + go al - f“:
i 9
— - L}
. = 4 o 2 N M2
m?_‘a C)' 0 h} 2 LS P a‘ == i il >)(
oS
l?_:’ -
g, on 3 s
Soluh C T F = do thowm owe
_O_u:—_o—lfl > Fo.,\s . Ftov\?, - F}_Dm}, W R
F{ mzy < 7 5"1‘&.(* m‘(hz\ magm"lviz,’?.
- - -
) rl’o = Pl -1 % ves Ahe  Aireckow 9} Ao s ,(’oraz_ :
77 1 L (\o—%o\t “ (5.0 -2. 9%
T n S ' i : ¥
- = —-%.O ,l: —+ 0.€ N WMS%‘Q
P' 5 V\S-uﬁug |
>>< The ﬂfﬂ“ﬂ& Dé fhu, S'D(‘& ’Fl%\7> .
= G wmimy CeTri5 0S-T
(3 = - B L—-?,)L-t- (o.'\:_;-i
(3
=233 5 N
colcilale FZ-B QL/OW& e Somr Wines and okdd{ but Aok s wf{d\(él.
Vech( addi Now OB, A Ge(&s (g regquie ed;£
-
=11 _ 0 N
Fug =3 It —? = Y e g)
2 1
s~ oisvt
r:-A - ~1 T A T N . <] i 2
Nogy Ty TN e PR B = 1% ps) Ls)
— —
F | G m, Mg L 0.6 “w] 126 - NESE FIES $‘5‘1 N
2t .2 2.25 +« 2%



S 51 Conbnved - E _(;5
e >3 Vo = T QS)

Ebn% = [v—%-%?_/ytc;q ot 2.2#»:10—? :}\]'\f
und  hon- Svgwne E\rC&Mt_ cs’kaﬁﬂ’“‘—s

MO\«! M()re% ’h'v:S an Majhf‘!‘v&/d«“fgckom.

== -9 |
t{—on'ﬁ\ = 2.9% x(o N —> 4o x{o?l\l

F 2 (=] [
'l:aM (3’: (;}— = 222 F =122 € (3%.91“)

X b2 =249
I e P s O

J

&""3 I [go° el N2, S8 ol 42 AL

This s ha ow»ﬁlc Wi . €. Khe | FYY K- ~%S

G
| 2140 \
\ :lf lFtOV\5\ S5 t l:Zov\al P QS 0 e F)c
\ N
\Y
AFxs % 33x8N
odds Jp Ao m?[/



S %5

—_

F F.

£ on ss M ousg
=—ptz—> oM
@ 5% ———-—'—'—'_""'_%l?——- >Q2.
= =T | ) Spaa&
.Sh.'-P

G For wh/ch o, stamce X

| Cwhece >, % :dMEB
0(0 ’h% jfﬂ\ﬁ*&#"“ml foras en e SS Cancel 7

So[u.“’ﬁ"o'u\‘ Comcllakon 15 POSgrkb’e aﬁcmcj m Airect

LCM (,ony\e(/}ﬂ\at (=

@ mé M
et

& més M
v 2

2

Mg 1
2 E z
¥l (‘ng— t)
2 M
oy -
%, Me
dME_ =T — Hu
% e
Numbers
) ers . O&M{_.} T l . MH
dME = 3,80 %I10"wm Xl T y Mg
M, - 00735 0 k T MeE
\f-
Me = 597 ¥ (kg \fd_y_(\é

%, I RS Xlog W Qmm eachn (dﬂS&’l’D’h\Q \MOOV\!)



5(;%‘1 aj, safellite  ca }o,os7v\c/kr‘ov\ous otk ,?
cl . sped og sl | abodt | Sovk

50[%‘@\/\_;

— 3 =
L:}éa,wkplg .lg | — ?&OSyV\CL\rO‘nOUS ocb b
E spins abovt

am  ax's AW T =29 h =2¥ %3¢ <15 S

wo OOO — .21T
-
U; - wo CS

Foc «h\xs ‘3”057"“:'“(0“0”5’ ocb, V=
myst be dove Auat

2=
%5 - 6l

(= : o
= with U =G0
S
2 -2
Po BRE GME Us
—_—
- bu_z-r s o
. . 7T
r % 6 LF )f(ob” IS 1 To T wz.ﬁfly 2.0% » 10%
G= - i )
L x 3.0y
= (%22 ¥ 107 m = 42 . boo Rm ele.e Ri
RE& ke
Y= oI | 6.23 ¥ 4.2 10" m - % 210 M)
00 S =

o ke 27 (1.50x 10" w)
Eartls  obit abosk Sm; U= —

= SO ol ™
245 % ®L4o0 S =
Eocdh (s orbidng Sva ~ 10 wws fagher tham o se0s. satelile othdny B



